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ﬁ WORKSHEET#1

[Solve the following word problems. ]

1. 456,000 people live in city A and 300,000 people live in city B. what is the
total population of both the cities?

2. The annual income of my father is $65,000 and my mother's annual income is
$38,500, how much do they earn in a year altogether?

3. According to a survey, 32,220 children were born in year 2010, 45,075
children were born in year 2011 and only 12,000 children were born in 2012 ina
city. How many children were born in these 3 years?

4. T bought a new house worth $35,650 and a brand new car for $12,175. How
much did I spend buying a house and a car?

5. The total annual expenditure of a family A is $25,080 and family B's annual
expenditure is $35,250. What is the total annual spending of both the families?
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1) 756,000
2) $103,500
3) 89,295

4) $47,825

5) $60,330

[ ANSWERS ]
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